NLS Prince Albert Presort Sale - December 2, 2024. Monday, December 2, 2024 -- 10:00 AM

Pre-Sort

This is a live broadcast of a pre-sort sale out of NLS Prince Albert, SK. For more information call Jeannie at (780) 554-4939

NOTES...

Seq#	Lot#	Pen#	Head#	Sex	Breed	Avg. Wt.	Total Wt.	Consignor
1	1	D7B	25	STRS	BLACK	358	8940	
2	2	C8	45	STRS	BLACK	408	18338	
3	3	C2	57	STRS	BLACK	446	25423	
4	4	C6	81	STRS	BLACK	505	40910	
5	5	N19	28	STRS	WIBERG	509	14240	
6	6	S2	61	STRS	BLACK	565	34443	
7	7	S1	71	STRS	BLACK	598	42482	
8	8	S6	47	STRS	YUZIK	602	28276	
9	9	S4	39	STRS	BLACK	655	25562	
10	10	C7	24	STRS	BLACK	723	17346	
11	11	D14T	4	STRS	TAN	356	1422	
12	12	C11	7	STRS	TAN	457	3200	
13	13	C13	8	STRS	TAN	501	4011	
14	14	C15	14	STRS	TAN	549	7689	
15	15	C17	11	STRS	TAN	583	6411	
16	16	C8B	13	STRS	TAN	647	8409	
17	17	N11	39	STRS	TAN	751	29284	
18	18	D13S	34	STRS	SILVER	454	15444	
19	19	D17S	8	STRS	SILVER	518	4148	
20	20	D19S	12	STRS	SILVER	575	6900	
21	21	D3S	14	STRS	SILVER	668	9352	
22	22	D20	2	STRS	CHAROLAIS	480	960	
23	23	D21E	3	STRS	EXOTIC	341	1023	
24	24	C5	8	STRS	EXOTIC	399	3192	
25	25	C4	10	STRS	EXOTIC	463	4626	
26	26	R1	18	STRS	EXOTIC	504	9067	
27	27	R2	31	STRS	EXOTIC	558	17305	
28	28	C1	29	STRS	EXOTIC	600	17402	
29	29	R3	82	STRS	EXOTIC	669	54836	
30	30	C3	32	STRS	EXOTIC	731	23390	
31	31	D15E	14	STRS	EXOTIC	817	11437	
32	32	D1E	6	STRS	EXOTIC	884	5302	
33	33	C23	7	STRS	BRITISH	307	2146	
34	34	C24	4	STRS	BRITISH	338	1354	

35	35	C20	2	STRS	BRITISH	387	774
36	36	C18	5	STRS	BRITISH	454	2270
37	37	C16	3	STRS	BRITISH	493	1478
38	38	C14	7	STRS	BRITISH	548	3834
39	39	C12	7	STRS	BRITISH	595	4164
40	40	C19	2	STRS	BRITISH	678	1356
41	41	C21	2	STRS	BRITISH	756	1511
42	42	W 25	3	STRS	SPECKLE PARK	610	1830
43	43	W 29	4	STRS	RED WHITE FACE	528	2114
44	44	W26	1	STRS	NORTH	343	343
45	45	W9	8	STRS	NORTH	452	3613
46	46	W12	2	STRS	NORTH	534	1069
47	47	W13	7	STRS	NORTH	641	4489
48	48	W16	6	STRS	NORTH	765	4588
49	49	W2	14	STRS	BULL CALVES	398	5575
50	50	W3	26	STRS	BULL CALVES	442	11483
51	51	W6	15	STRS	BULL CALVES	539	8092
52	52	W7	12	STRS	BULL CALVES	587	7040
53	53	W10	3	STRS	BULL CALVES	668	2003
54	54	W11	7	STRS	BULL CALVES	783	5478
55	55	W30	4	STRS	BULL CALVES	920	3678
56	56	W17	8	STRS	BELLY NUT	646	5172
57	57	W19	2	STRS	BELLY NUT	718	1435
58	58	W28	1	STRS	BELLY NUT	840	840
59	59	D1	9	HFRS	BLACK	359	3229
60	60	D3	53	HFRS	BLACK	405	21456
61	61	D5	120	HFRS	BLACK	457	54840
62	62	N1	27	HFRS	BLACK	513	13851
63	63	D17	18	HFRS	BLACK	529	9520
64	64	N3	52	HFRS	BLACK	553	28760
65	65	N5	42	HFRS	BLACK	598	25121
66	66	S3	25	HFRS	KOBES	650	16260
67	67	N7	32	HFRS	BLACK	662	21180
68	68	D16	3	HFRS	BLACK	725	2175
69	69	C23T	6	HFRS	TAN	404	2421
70	70	D7	10	HFRS	TAN	456	4561
71	71	D9	10	HFRS	TAN	495	4952
72	72	D11	9	HFRS	TAN	561	5046
73	73	D13	14	HFRS	TAN	592	8292
74	74	N10	31	HFRS	TAN	672	20831
75	75	N14	19	HFRS	TAN	732	13914
76	76	N15	8	HFRS	SILVER	392	3140
77	77	C18S	15	HFRS	SILVER	439	6578
78	78	C20S	29	HFRS	SILVER	512	14834

			_				
79	79	C24T		HFRS	SILVER	588	5288
80	80	N13		HFRS	SILVER	672	18822
81	81	N12		HFRS	SILVER	741	5188
82	82	D2	12	HFRS	EXOTIC	346	4151
83	83	D4	11	HFRS	EXOTIC	406	4463
84	84	D6	8	HFRS	EXOTIC	456	3650
85	85	D8	17	HFRS	EXOTIC	512	8703
86	86	N2	30	HFRS	EXOTIC	544	16334
87	87	N9	20	HFRS	BLACK REPLACEMENT	546	10924
88	88	N4	19	HFRS	EXOTIC	607	11526
89	89	C17R	10	HFRS	REPLACEMENT	616	6160
90	90	N6	13	HFRS	EXOTIC	655	8509
91	91	N17	5	HFRS	EXOTIC	744	3718
92	92	N8	7	HFRS	EXOTIC	802	5613
93	93	D10	14	HFRS	BRITISH	313	4384
94	94	D12	10	HFRS	BRITISH	357	3568
95	95	D14	14	HFRS	BRITISH	397	5552
96	96	D15	7	HFRS	BRITISH	443	3104
97	97	D17	4	HFRS	BRITISH	503	2011
98	98	D19	6	HFRS	BRITISH	549	3292
99	99	D21	4	HFRS	BRITISH	588	2350
100	100	C2B	1	HFRS	BRITISH	630	630
101	101	W20	4	HFRS	SMOKE	479	1917
102	102	W26	2	HFRS	SMOKE	658	1315
103	103	W23	3	HFRS	RED WHITE FACE	712	2137
104	104	W15	2	HFRS	SPECKLE PARK	370	740
105	105	C21S	1	HFRS	SPECKLE PARK	540	540
106	106	W8	9	HFRS	NORTH	418	3766
107	107	W5	5	HFRS	NORTH	551	2753
108	108	W4	7	HFRS	NORTH	663	4640
109	109	W1	1	HFRS	NORTH	772	772
110	110	N20	13	STRS	BLACK YEARLING	881	11449
111	111	W21	5	STRS	BIG YEARLING	1261	6304
112	112	C22	7	HFRS	BLACK YEARLING	733	5132
113	113	N16	8	HFRS	BLACK YEARLING	873	6981
114	114	N18		HFRS	BLACK YEARLING	946	9462
115	115	W27		HFRS	BLACK YEARLING	1011	3033
116	116	C17B		HFRS	YEARLING	1132	7923
117	117	W18		HFRS	NORTH YEARLING	775	1550
118	118	W14		HFRS	SPECKLE YEARLING	682	5456
119	119	W32B		STRS	BIG YEARLING	869	2607
120	120	W30B		HFRS	BIG YEARLING	1026	6153
121	121	W23B		STRS	BIG YEARLING	1089	5446
			<u> </u>	· · · ·			

	Tatal Hands 1066							
141	141	T764	1	STRS		719	719	
140	140	T769	1	HFRS		480	480	
139	139	T775	1	HFRS		996	996	
138	138	T774	1	STRS		559	559	
137	137	T772	1	STRS		877	877	
136	136	T765	1	STRS		1000	1000	
135	135	T767	1	HFRS		491	491	
134	134	T778	1	STRS		472	472	
133	133	T770	1	HFRS		380	380	
132	132	T768	1	HFRS		535	535	
131	131	T766	1	HFRS		883	883	
130	130	T788	1	STRS		930	930	
129	129	T771	1	HFRS		675	675	
128	128	T789	1	STRS		1170	1170	
127	127	T773	1	STRS		713	713	
126	126	T776	1	HFRS		1114	1114	
125	125	T779	1	HFRS		330	330	
124	124	W24	3	HFRS	PEEWEE	266	799	
123	123	W22W	4	HFRS	PEEWEE	196	782	
122	122	W22	4	STRS	PEEWEE	205	820	

Total Head: 1966

Lot Detail Information

Sequence #:	1	Lot #:	1
Pen #:	D7B	Consignor:	
Head:	25	Average Weight:	358
Color:		Total Weight:	8940
Sex:	STRS	Breed:	BLACK
Lot Detail Information	1		
Sequence #:	2	Lot #:	2
Pen #:	С8	Consignor:	
Head:	45	Average Weight:	408
Color:		Total Weight:	18338
Sex:	STRS	Breed:	BLACK
Lot Detail Information	1		
Sequence #:	3	Lot #:	3
Pen #:	C2	Consignor:	
Head:	57	Average Weight:	446
Color:		Total Weight:	25423
Sex:	STRS	Breed:	BLACK
Lot Detail Information	1		
Sequence #:	4	Lot #:	4
Pen #:	C6	Consignor:	
Head:	81	Average Weight:	505
Color:		Total Weight:	40910
Sex:	STRS	Breed:	BLACK
Lot Detail Information	<u>. </u>		
Sequence #:	5	Lot #:	5
Pen #:	N19	Consignor:	
Head:	28	Average Weight:	509
Color:		Total Weight:	14240
Sex:	STRS	Breed:	WIBERG
Lot Detail Information	1		
Sequence #:	6	Lot #:	6
Pen #:	S2	Consignor:	
Head:	61	Average Weight:	565
Color:		Total Weight:	34443
Sex:	STRS	Breed:	BLACK
Lot Detail Information	<u> </u>		
Sequence #:	7	Lot #:	7
Pen #:	S1	Consignor:	
Head:	71	Average Weight:	598
Color:		Total Weight:	42482
Sex:	STRS	Breed:	BLACK
Lot Detail Information	1		
Sequence #:	8	Lot #:	8

Pen #:	S6	Consignor:	
Head:	47	Average Weight:	602
Color:		Total Weight:	28276
Sex:	STRS	Breed:	YUZIK
Lot Detail Information			
Sequence #:	9	Lot #:	9
Pen #:	S4	Consignor:	
Head:	39	Average Weight:	655
Color:		Total Weight:	25562
Sex:	STRS	Breed:	BLACK
ot Detail Information			
Sequence #:	10	Lot #:	10
Pen #:	С7	Consignor:	
Head:	24	Average Weight:	723
Color:		Total Weight:	17346
Sex:	STRS	Breed:	BLACK
Lot Detail Information			
Sequence #:	11	Lot #:	11
Pen #:	D14T	Consignor:	
Head:	4	Average Weight:	356
Color:		Total Weight:	1422
Sex:	STRS	Breed:	TAN
ot Detail Information			
Sequence #:	12	Lot #:	12
en #:	C11	Consignor:	
lead:	7	Average Weight:	457
Color:		Total Weight:	3200
Sex:	STRS	Breed:	TAN
ot Detail Information			
equence #:	13	Lot #:	13
Pen #:	C13	Consignor:	
Head:	8	Average Weight:	501
Color:		Total Weight:	4011
Sex:	STRS	Breed:	TAN
Lot Detail Information			
Sequence #:	14	Lot #:	14
Pen #:	C15	Consignor:	
Head:	14	Average Weight:	549
Color:		Total Weight:	7689
Sex:	STRS	Breed:	TAN
Lot Detail Information			
Sequence #:	15	Lot #:	15
Pen #:	C17	Consignor:	
Head:	11	Average Weight:	583
Color:		Total Weight:	6411
JUIU1 .		i otai Weigiit.	0411

Sex:	STRS	Breed:	TAN
Lot Detail Information			
Sequence #:	16	Lot #:	16
Pen #:	С8В	Consignor:	
Head:	13	Average Weight:	647
Color:		Total Weight:	8409
Sex:	STRS	Breed:	TAN
Lot Detail Information			
Sequence #:	17	Lot #:	17
Pen #:	N11	Consignor:	
Head:	39	Average Weight:	751
Color:		Total Weight:	29284
Sex:	STRS	Breed:	TAN
Lot Detail Information			
Sequence #:	18	Lot #:	18
Pen #:	D13S	Consignor:	
Head:	34	Average Weight:	454
Color:		Total Weight:	15444
Sex:	STRS	Breed:	SILVER
Lot Detail Information			
Sequence #:	19	Lot #:	19
Pen #:	D17S	Consignor:	
Head:	8	Average Weight:	518
Color:		Total Weight:	4148
Sex:	STRS	Breed:	SILVER
Lot Detail Information			
Sequence #:	20	Lot #:	20
Pen #:	D19S	Consignor:	
Head:	12	Average Weight:	575
Color:		Total Weight:	6900
Sex:	STRS	Breed:	SILVER
Lot Detail Information			
Sequence #:	21	Lot #:	21
Pen #:	D3S	Consignor:	
Head:	14	Average Weight:	668
Color:		Total Weight:	9352
Sex:	STRS	Breed:	SILVER
Lot Detail Information			
Sequence #:	22	Lot #:	22
Pen #:	D20	Consignor:	
Head:	2	Average Weight:	480
Color:		Total Weight:	960
Sex:	STRS	Breed:	CHAROLAIS
Lot Detail Information			

Pen # : D21E Consignor: Head: 3 Average Weight: 341 Color: Total Weight: 1023 Sex: STRS Breed: EXOTIC Lot Detail Information 24 Lot #: 24 Sequence #: 24 Lot #: 399 Color: STRS Breed: EXOTIC Det Detail Information Use #: 25 Lot #: 25 Sex: STRS Breed: EXOTIC Lot Detail Information 463 Color: EXOTIC Sex: STRS Breed: EXOTIC Lot #: 25 Lot #: 463 Color: Total Weight: 463 Sex: STRS Breed: EXOTIC Lot Detail Information 26 Lot #: 26 Sex: STRS Breed: EXOTIC Lot Detail Information 27 Lot #: 27 Sex: SExes: SExes: EXOTIC <th>Sequence #:</th> <th>23</th> <th>Lot #:</th> <th>23</th>	Sequence #:	23	Lot #:	23
Head: 3 Average Weight: 341 Color: TOTAL Weight: 1023 Sex: STRS Breed: 2007 Lot Detail Information Sequence #: 24 Lot #: 24 Head: 5 Average Weight: 399 Color: Total Weight: 3192 Sex: \$TRS Breed: £XOTIC Lot #: 25 Color: Sequence #: 6 Consignor: Head: 10 Average Weight: 463 Color: Total Weight: 463 Sex: \$TRS Breed: 26 Sex: \$TRS Breed: 26 Pen #: 26 Lot #: 26 Pen #: 26 Lot #: 26 Pen #: 26 Lot #: 27 Average Weight: 504 Color: 10 #: 27 Average Weight: 558 20 Color: 27				
Color: STRS Breed: EXOTIC Lot Detail Information 24 Lot #: 25 Lot #: 26 26 Lot #: 26 26 Lot #: 26				341
Sex: STRS Breed: EXOTIC Lot Latinformation Lot #: 24 Sequence #: 24 Lot #: 24 Pen #: C5 Consignor: 198 Color: STRS Breed: 3192 Sex: STRS Breed: 3192 Body Weight: 3192 Body Weight: 3192 Body Weight: 463 Body Weight: 462 Body Weight: 462 Body Weight: 462 Body Weight: 967 Body Weight: 967 Body Weight: 967 Body Weight: 967 Body Weight: 958 Body Weight: 958 Body Weight: 958		_		
Lot Petail Information Sequence #: 24 Lot #: 24 4 24 <td< td=""><td></td><td>STRS</td><td>_</td><td></td></td<>		STRS	_	
Sequence #: 24 Lot #: 24 Pen #: C5 Consignor: Head: 8 Average Weight: 399 Color: Total Weight: 3192 Sex: STRS Breed: EXOTIC Lot #: C4 Consignor: Head: 10 Average Weight: 4626 Color: Total Weight: 4626 Sex: STRS Breed: EXOTIC Lot #: 4626 Sex: STRS Breed: EXOTIC Lot #: 26 Color: Fen #: 41 Consignor: Fen #: 42 Consignor: Fen #: 42 Consignor: Fen #: 42 Consignor: Fen #: 42 Consignor: Fen #: 518 Breed: EXOTIC Fen #: 52 Rect EXOTIC	Lot Detail Information			
Pen #: CS Consignor: 999 Color: 5 Total Weight: 3192 Sex: \$TS Breed: EXOTIC Exercise (Sex:) \$XOTIC Lot Detail Information Sequence #: 25 Lot #: 25 Pen #: 64 Consignor: 463 Color: 50 Act Weight: 463 Color: 50 Act Weight: 4626 Sequence #: 26 Lot #: 26 Pen #: 81 Average Weight: 504 Color: 81 Average Weight: 9067 Sex: 82 Lot #: 27 Pen #: 82 Consignor: Fen #: 82 Consignor: Fen #: 82 Exercise Pen #: 82 Fen #: 17305 Fen #: 17402 Fen #: 17402 <td></td> <td>24</td> <td>Lot #:</td> <td>24</td>		24	Lot #:	24
Head: 8 Average Weight: 399 Color: Total Weight: 3192 Sex: BTRS Breed: EXOTIC Lot Detail Information 25 Exotic Pen #: 25 Pen #: C4 Consignor: 463 Color: Total Weight: 463 Color: Total Weight: 4626 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 26 Lot #: 26 Pen #: R1 Consignor: EXOTIC Head: 18 Average Weight: 504 Color: Total Weight: 504 Sex: BTRS Breed: EXOTIC Lot #: 27 Pen #: 17305 EX Color: Total Weight: 17305 Sex: BTRS Breed: EXOTIC Lot #: 17305 Sex: BTR Exotic Head: 17402				
Color: STRS Breed: EXOTIC Exercise (BXOTIC) Exequence #: 25 Lot #: 25 Pen #: C4 Consignor: 463 Head: 10 Average Weight: 463 Color: Total Weight: 4626 Sex: BROW Breed: EXOTIC Det Detail Information EXOTIC EXOTIC Pen #: R1 Consignor: EXOTIC Pen #: R1 Average Weight: 504 Color: Total Weight: 504 Color: Total Weight: 504 Sex: STRS Breed: EXOTIC Ever #: 27 Lot #: 27 Pen #: R2 Consignor: EXOTIC Sex: STRS Breed: EXOTIC Detail Information EXOTIC EXOTIC Sex: STRS Breed: EXOTIC Sex: STRS Breed: EXOTIC <	Head:	8		399
Lot Detail Information Sequence #: 25 Lot #: 25 Pen #: C4 Consignor: Head: 463 Color: Total Weight: 4626 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC Sequence #: 26 Lot #: 26 Pen #: R1 Consignor: 504 Head: 18 Average Weight: 504 Color: Total Weight: 504 Sex: STRS Breed: EXOTIC Lot #: 27 Lot #: 27 Pen #: R2 Consignor: EXOTIC Lot #: 58 EXOTIC Lot #: 58 EXOTIC Pen #: R2 Consignor: EXOTIC Lot #: 58 EXOTIC Lot #: 58 EXOTIC Lot #: 28 EXOTIC Lot #: 28 EXOTIC Lot #: <td>Color:</td> <td></td> <td></td> <td>3192</td>	Color:			3192
Sequence #: 25 Lot #: 25 Pen #: C4 Consignor: Head: 10 Average Weight: 463 Color: Total Weight: 4626 Sex: STRS Breed: EXOTIC Lot #: 4626 Sex: STRS Breed: EXOTIC Lot #: 504 Color: Total Weight: 504 Sex: STRS Breed: EXOTIC Lot #: 27 Color: STRS	Sex:	STRS	Breed:	EXOTIC
Pen #: C4 Consignor: 463 Color: Total Weight: 463 Color: STRS Breed: EXOTIC Sequence #: 26 Lot #: 26 Pen #: R1 Consignor: 504 Head: 18 Average Weight: 504 Color: Total Weight: 9067 Sex: STRS Breed: EXOTIC Lot #: 27 Sequence #: 27 Lot #: 27 Pen #: R2 Consignor: EXOTIC Lot #: STRS Breed: EXOTIC Lot #: STRS Breed: <td>Lot Detail Information</td> <td></td> <td></td> <td></td>	Lot Detail Information			
Head: 10 Average Weight: 463 Color: 5 TRS Breed: EXOTIC Sex: 5 TRS Breed: EXOTIC Lot #: Very March EXOTIC Lot #: 26 Lot #: 26 Pen #: R1 Consignor: 504 Pen #: 18 Average Weight: 9067 Sex: 5 TRS Breed: EXOTIC Lot #: 27 Lot #: 27 Pen #: R2 Consignor: EXOTIC Fead: 31 Average Weight: 558 Color: 5 TRS Breed: EXOTIC Sex: 5 TRS Breed: EXOTIC Lot Detail Information 28 Lot #: 28 Pen #: C1 Consignor: EXOTIC Lot Detail Information 29 Average Weight: 600 Sex: 5 TRS Breed: EXOTIC Sex: 5 TRS Breed: EXOTIC <td>Sequence #:</td> <td>25</td> <td>Lot #:</td> <td>25</td>	Sequence #:	25	Lot #:	25
Color: Total Weight: 4626 Sex: STRS Breed: EXOTIC Lot Petail Information Sequence #: 26 Lot #: 26 Pen #: R1 Consignor: 504 Head: 18 Average Weight: 504 Color: Total Weight: 9067 Sex: Breed: 27 Lot #: 27 Lot #: 27 Pen #: R2 Consignor: 17305 Head: 31 Average Weight: 558 Color: Total Weight: 17305 Sex: Breed: EXOTIC Lot Detail Information 28 EXOTIC Equence #: 29 Average Weight: 600 Color: Total Weight: 17402 Sex: Breed: EXOTIC Lot Detail Information 29 Average Weight: 600 Color: R3 Consignor: EXOTIC Lot #: 29 <t< td=""><td>Pen #:</td><td>C4</td><td>Consignor:</td><td></td></t<>	Pen #:	C4	Consignor:	
Sex: STRS Breed: EXOTIC Lot Detail Information 26 Lot #: 26 Pen #: R1 Consignor: Ference #: 504 Head: 18 Average Weight: 504 Color: Total Weight: 9067 Sex: STRS Breed: EXOTIC Lot #: 27 Sequence #: R2 Consignor: Ference #: 558 Color: Total Weight: 17305 Ference #: EXOTIC Sex: STRS Breed: EXOTIC EXOTIC Lot Detail Information Ference #: 28 Lot #: 28 EXOTIC EXOTIC EXOTIC Ference #: EXOTIC Ference #: EXOTIC EXOTIC EXOTIC Ference #: EXOTIC	Head:	10	Average Weight:	463
Lot Detail Information Sequence #: 26 Lot #: 26 Pen #: R1 Consignor: Texage Weight: 504 Color: Total Weight: 9067 Sex: STRS Breed: EXOTIC Lot #: 27 Lot #: 27 Pen #: R2 Consignor: 558 Head: 31 Average Weight: 558 Color: Total Weight: 17305 Sex: STRS Breed: EXOTIC Lot Detail Information 28 Lot #: 28 Pen #: C1 Consignor: EXOTIC Head: 29 Average Weight: 600 Color: Total Weight: 17402 Sex: STRS Breed: EXOTIC Lot #: 29 Lot #: 29 Sequence #: R3 Consignor: EXOTIC Head: So Average Weight: 669 Color: Total	Color:		Total Weight:	4626
Sequence #: 26 Lot #: 26 Pen #: R1 Consignor: Head: 18 Average Weight: 504 Color: Total Weight: 9067 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 27 Lot #: 27 Pen #: R2 Consignor: Total Weight: 17305 Sex: STRS Breed: EXOTIC Lot #: 28 Lot #: 28 Pen #: C1 Consignor: EXOTIC Let #: 29 Average Weight: 600 Color: Total Weight: 17402 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC EXOTIC Lot #: 29 Lot #: 29 Pen #: R3 Consignor: EXOTIC Lot #: 29 Lot #: EXOTIC Lot #: 29 Lot #: EXO	Sex:	STRS	Breed:	EXOTIC
Pen #: R1 Consignor: Head: 18 Average Weight: 504 Color: Total Weight: 9067 Sex: STRS Breed: EXOTIC Lot #: EXOTIC Lot #: EXOTIC Lot #: 27 Pen #: R2 Consignor: Fen #: 17305 Sex: STRS Breed: EXOTIC Lot #: EXOTIC Lot #: 28 Lot #: 28 Pen #: C1 Consignor: EXOTIC Lot #: Pene: EXOTIC Lot Weight: 600 Color: Sequence #: STRS Breed: EXOTIC Lot #: 29 Pen #: EXOTIC Lot #: 29 Pen #: EXOTIC Lot #: 29 Pen #: EXOTIC EXOTIC Lot #: 29 EXOTIC	Lot Detail Information			
Head: 18 Average Weight: 504 Color: 5TRS Breed: EXOTIC Sex: STRS Breed: EXOTIC Lot Detail Information V V Sequence #: 27 Lot #: 27 Pen #: R2 Consignor: 558 Color: Total Weight: 17305 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC Sequence #: 28 Lot #: 28 Pen #: C1 Consignor: 17402 Sex: STRS Breed: EXOTIC Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC EXOTIC Lot Detail Information EXOTIC EXOTIC Sequence #: 82 Average Weight: 669 Golor: Total Weight: 54836 Sex: STRS Breed: EXOTIC Lot #: SEX EXOTIC	Sequence #:	26	Lot #:	26
Color: STRS Breed: EXOTIC EXTRS Breed: EXOTIC Lot Detail Information Sequence #: 27 Lot #: 27 Pen #: R2 Consignor: 558 Head: 31 Average Weight: 558 Color: Total Weight: 17305 Sex: STRS Breed: EXOTIC Pen #: C1 Consignor: EXOTIC Head: 29 Average Weight: 600 Sex: STRS Breed: EXOTIC Sex: STRS Breed: EXOTIC Sex: STRS Breed: EXOTIC Lot Detail Information 29 Lot #: 29 Pen #: R3 Consignor: 669 Feo: Total Weight: 54836 Sex: STRS Preed: EXOTIC Fex: Total Weight: 54836 Sex: STRS Preed: EXOTIC	Pen #:	R1	Consignor:	
Sex: STRS Breed: EXOTIC Lot Detail Information Fequence #: 27 Lot #: 27 Pen #: R2 Consignor: 558 Head: 31 Average Weight: 558 Color: Total Weight: 17305 Sex: STRS Breed: EXOTIC Lot Detail Information 28 Lot #: 28 Pen #: C1 Consignor: 600 Color: Total Weight: 600 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC Sequence #: 29 Lot #: 29 Pen #: R3 Consignor: EXOTIC Head: 82 Average Weight: 669 Color: Total Weight: 54836 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC EXOTIC Sex: STRS Breed: EXOTIC Sex: STRS	Head:	18	Average Weight:	504
Lot Petail Information Sequence #: 27 Lot #: 27 Pen #: R2 Consignor: 558 Head: 31 Average Weight: 558 Color: Total Weight: 17305 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 28 Lot #: 28 Pen #: C1 Consignor: 600 Color: Total Weight: 600 Sex: STRS Breed: EXOTIC Lot #: 29 Pen #: R3 Consignor: Head: 82 Average Weight: 669 Color: Total Weight: 54836 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC EXOTIC Lot Detail Information EXOTIC EXOTIC	Color:		Total Weight:	9067
Sequence #: 27 Lot #: 27 Pen #: R2 Consignor: ************************************	Sex:	STRS	Breed:	EXOTIC
Pen #: R2 Consignor: Head: 31 Average Weight: 558 Color: Total Weight: 17305 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 28 Lot #: 28 Pen #: C1 Consignor: 600 Color: Total Weight: 17402 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC Sequence #: 29 Lot #: 29 Pen #: R3 Consignor: STRS STRS STRS STRS STRS STRS STRS STRS EXOTIC STRS STRS STRS STRS STRS STRS STRS EXOTIC STRS STRS <t< td=""><td>Lot Detail Information</td><td></td><td></td><td></td></t<>	Lot Detail Information			
Head: 31 Average Weight: 558 Color: Total Weight: 17305 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 28 Lot #: 28 Pen #: C1 Consignor: 600 Color: Total Weight: 600 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 29 Lot #: 29 Pen #: R3 Consignor: Head: 82 Average Weight: 669 Color: Total Weight: 54836 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC Lot Detail Information EXOTIC Sequence #: 30 Lot #: 30 Experimental Information EXOTIC 30 Lot #: 20 30 30 Experimental Information EXOTIC 30 Pen #: 30 30	Sequence #:	27	Lot #:	27
Color: Total Weight: 17305 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC Sequence #: 28 Lot #: 28 Pen #: C1 Consignor: 600 Color: Total Weight: 600 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC Sequence #: R3 Consignor: Head: 82 Average Weight: 669 Color: Total Weight: 54836 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC EXOTIC	Pen #:	R2	Consignor:	
Sex: STRS Breed: EXOTIC Lot Detail Information Exequence #: 28 Lot #: 28 Pen #: C1 Consignor:	Head:	31	Average Weight:	558
Lot Detail Information Sequence #: 28 Lot #: 28 Pen #: C1 Consignor: ************************************	Color:		Total Weight:	17305
Sequence #: 28 Lot #: 28 Pen #: C1 Consignor: 600 Head: 29 Average Weight: 600 Color: Total Weight: 17402 Sex: STRS Breed: EXOTIC Lot Detail Information 29 Lot #: 29 Pen #: R3 Consignor: 669 Head: 82 Average Weight: 54836 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC Sequence #: 30 Lot #: 30 Pen #: C3 Consignor: Consignor:	Sex:	STRS	Breed:	EXOTIC
Pen #: C1 Consignor: Head: 29 Average Weight: 600 Color: Total Weight: 17402 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 29 Lot #: 29 Pen #: R3 Consignor: 669 Head: 82 Average Weight: 669 Color: Total Weight: 54836 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 30 Lot #: 30 Pen #: COnsignor: Lot #: 30	Lot Detail Information			
Head: 29 Average Weight: 600 Color: Total Weight: 17402 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 29 Lot #: 29 Pen #: R3 Consignor: 669 Head: 82 Average Weight: 669 Color: Total Weight: 54836 Sex: Breed: EXOTIC Lot Detail Information EXOTIC Sequence #: 30 Lot #: 30 Pen #: C3 Consignor: Unit #:	Sequence #:	28	Lot #:	28
Color: Total Weight: 17402 Sex: STRS Breed: EXOTIC Lot #: 29 Pen #: R3 Consignor: Head: Average Weight: 669 Color: Total Weight: 54836 Sex: EXOTIC Lot Detail Information Sequence #: 30 Lot #: 30 Pen #: Consignor:	Pen #:	C1	Consignor:	
Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 29 Lot #: 29 Pen #: R3 Consignor: Fex Head: 82 Average Weight: 669 Color: Total Weight: 54836 Sex: STRS Breed: EXOTIC Lot Detail Information EXOTIC Sequence #: 30 Lot #: 30 Pen #: C3 Consignor: Consignor:	Head:	29	Average Weight:	600
Lot Detail Information Sequence #: 29 Lot #: 29 Pen #: R3 Consignor: ************************************	Color:		Total Weight:	17402
Sequence #: 29 Lot #: 29 Pen #: R3 Consignor: ************************************	Sex:	STRS	Breed:	EXOTIC
Pen #: Head: Color: Sex: STRS Breed: Sequence #: Pen #: COnsignor: Color: Total Weight: Streed: STRS Breed: EXOTIC EXOTIC EXOTIC COlor: Consignor: Consignor: Consignor: Consignor:	Lot Detail Information			
Head: 82 Average Weight: 669 Color: Total Weight: 54836 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 30 Lot #: 30 Pen #: C3 Consignor: Consignor: Consignor:	Sequence #:	29	Lot #:	29
Color: Total Weight: 54836 Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 30 Lot #: 30 Pen #: C3 Consignor: Consignor:	Pen #:	R3	Consignor:	
Sex: STRS Breed: EXOTIC Lot Detail Information Sequence #: 30 Lot #: 30 Pen #: C3 Consignor:		82	Average Weight:	669
Lot Detail InformationSequence #:30Lot #:30Pen #:C3Consignor:			_	
Sequence #: 30 Lot #: 30 Pen #: C3 Consignor:		STRS	Breed:	EXOTIC
Pen #: C3 Consignor:	Lot Detail Information			
	Sequence #:	30	Lot #:	30
Head: 32 Average Weight: 731	Pen #:			
	Head:	32	Average Weight:	731

Color:		Total Weight:	23390
Sex:	STRS	Breed:	EXOTIC
Lot Detail Information			
Sequence #:	31	Lot #:	31
Pen #:	D15E	Consignor:	
Head:	14	Average Weight:	817
Color:		Total Weight:	11437
Sex:	STRS	Breed:	EXOTIC
Lot Detail Information			
Sequence #:	32	Lot #:	32
Pen #:	D1E	Consignor:	
Head:	6	Average Weight:	884
Color:		Total Weight:	5302
Sex:	STRS	Breed:	EXOTIC
Lot Detail Information			
Sequence #:	33	Lot #:	33
Pen #:	C23	Consignor:	
Head:	7	Average Weight:	307
Color:		Total Weight:	2146
Sex:	STRS	Breed:	BRITISH
Lot Detail Information			
Sequence #:	34	Lot #:	34
Pen #:	C24	Consignor:	
Head:	4	Average Weight:	338
Color:		Total Weight:	1354
Sex:	STRS	Breed:	BRITISH
Lot Detail Information			
Sequence #:	35	Lot #:	35
Pen #:	C20	Consignor:	
Head:	2	Average Weight:	387
Color:		Total Weight:	774
Sex:	STRS	Breed:	BRITISH
Lot Detail Information			
Sequence #:	36	Lot #:	36
Pen #:	C18	Consignor:	
Head:	5	Average Weight:	454
Color:		Total Weight:	2270
Sex:	STRS	Breed:	BRITISH
Lot Detail Information			
Sequence #:	37	Lot #:	37
Pen #:	C16	Consignor:	
Head:	3	Average Weight:	493
Color:		Total Weight:	1478

Sequence #:	38	Lot #:	38
Pen #:	C14	Consignor:	
Head:	7	Average Weight:	548
Color:		Total Weight:	3834
Sex:	STRS	Breed:	BRITISH
Lot Detail Information	1		
Sequence #:	39	Lot #:	39
Pen #:	C12	Consignor:	
Head:	7	Average Weight:	595
Color:		Total Weight:	4164
Sex:	STRS	Breed:	BRITISH
ot Detail Information	1		
Sequence #:	40	Lot #:	40
Pen #:	C19	Consignor:	
Head:	2	Average Weight:	678
Color:		Total Weight:	1356
Sex:	STRS	Breed:	BRITISH
Lot Detail Information	1		
Sequence #:	41	Lot #:	41
Pen #:	C21	Consignor:	
Head:	2	Average Weight:	756
Color:		Total Weight:	1511
Sex:	STRS	Breed:	BRITISH
ot Detail Information	1		
Sequence #:	42	Lot #:	42
en #:	W25	Consignor:	
Head:	3	Average Weight:	610
Color:		Total Weight:	1830
Sex:	STRS	Breed:	SPECKLE PARK
Lot Detail Information	1		
Sequence #:	43	Lot #:	43
Pen #:	W29	Consignor:	
Head:	4	Average Weight:	528
Color:		Total Weight:	2114
Sex:	STRS	Breed:	RED WHITE FACE
Lot Detail Information	1		
Sequence #:	44	Lot #:	44
Pen #:	W26	Consignor:	
Head:	1	Average Weight:	343
Color:		Total Weight:	343
Sex:	STRS	Breed:	NORTH
Lot Detail Information	1		
Sequence #:	45	Lot #:	45

_ "			
Pen #:	W9	Consignor:	
Head:	8	Average Weight:	452
Color:		Total Weight:	3613
Sex:	STRS	Breed:	NORTH
Lot Detail Information			
Sequence #:	46	Lot #:	46
Pen #:	W12	Consignor:	
Head:	2	Average Weight:	534
Color:		Total Weight:	1069
Sex:	STRS	Breed:	NORTH
Lot Detail Information			
Sequence #:	47	Lot #:	47
Pen #:	W13	Consignor:	
Head:	7	Average Weight:	641
Color:		Total Weight:	4489
Sex:	STRS	Breed:	NORTH
Lot Detail Information			
Sequence #:	48	Lot #:	48
Pen #:	W16	Consignor:	
Head:	6	Average Weight:	765
Color:		Total Weight:	4588
Sex:	STRS	Breed:	NORTH
Lot Detail Information			
Sequence #:	49	Lot #:	49
Pen #:	W2	Consignor:	
Head:	14	Average Weight:	398
Color:		Total Weight:	5575
Sex:	STRS	Breed:	BULL CALVES
Lot Detail Information			
Sequence #:	50	Lot #:	50
Pen #:	W3	Consignor:	
Head:	26	Average Weight:	442
Color:		Total Weight:	11483
Sex:	STRS	Breed:	BULL CALVES
Lot Detail Information			
Sequence #:	51	Lot #:	51
Pen #:	W6	Consignor:	
Head:	15	Average Weight:	539
Color:		Total Weight:	8092
Sex:	STRS	Breed:	BULL CALVES
Lot Detail Information			
Sequence #:	52	Lot #:	52
Pen #:	W7	Consignor:	
Head:	12	Average Weight:	587
Color:		Total Weight:	7040
		•	

Sex:	STRS	Breed:	BULL CALVES
Lot Detail Information			
Sequence #:	53	Lot #:	53
Pen #:	W10	Consignor:	
Head:	3	Average Weight:	668
Color:		Total Weight:	2003
Sex:	STRS	Breed:	BULL CALVES
Lot Detail Information			
Sequence #:	54	Lot #:	54
Pen #:	W11	Consignor:	
Head:	7	Average Weight:	783
Color:		Total Weight:	5478
Sex:	STRS	Breed:	BULL CALVES
Lot Detail Information			
Sequence #:	55	Lot #:	55
Pen #:	W30	Consignor:	
Head:	4	Average Weight:	920
Color:		Total Weight:	3678
Sex:	STRS	Breed:	BULL CALVES
Lot Detail Information			
Sequence #:	56	Lot #:	56
Pen #:	W17	Consignor:	
Head:	8	Average Weight:	646
Color:		Total Weight:	5172
Sex:	STRS	Breed:	BELLY NUT
Lot Detail Information			
Sequence #:	57	Lot #:	57
Pen #:	W19	Consignor:	
Head:	2	Average Weight:	718
Color:		Total Weight:	1435
Sex:	STRS	Breed:	BELLY NUT
Lot Detail Information			
Sequence #:	58	Lot #:	58
Pen #:	W28	Consignor:	
Head:	1	Average Weight:	840
Color:		Total Weight:	840
Sex:	STRS	Breed:	BELLY NUT
Lot Detail Information			
Sequence #:	59	Lot #:	59
Pen #:	D1	Consignor:	
Head:	9	Average Weight:	359
Color:		Total Weight:	3229
Sex:	HFRS	Breed:	BLACK
Lot Detail Information			

Sequence #:	60	Lot #:	60
Pen #:	D3	Consignor:	
Head:	53	Average Weight:	405
Color:		Total Weight:	21456
Sex:	HFRS	Breed:	BLACK
Lot Detail Information			
Sequence #:	61	Lot #:	61
Pen #:	D5	Consignor:	
Head:	120	Average Weight:	457
Color:		Total Weight:	54840
Sex:	HFRS	Breed:	BLACK
Lot Detail Information			
Sequence #:	62	Lot #:	62
Pen #:	N1	Consignor:	
Head:	27	Average Weight:	513
Color:		Total Weight:	13851
Sex:	HFRS	Breed:	BLACK
Lot Detail Information			
Sequence #:	63	Lot #:	63
Pen #:	D17	Consignor:	
Head:	18	Average Weight:	529
Color:		Total Weight:	9520
Sex:	HFRS	Breed:	BLACK
Lot Detail Information			
Sequence #:	64	Lot #:	64
Pen #:	N3	Consignor:	
Head:	52	Average Weight:	553
Color:		Total Weight:	28760
Sex:	HFRS	Breed:	BLACK
Lot Detail Information			
Sequence #:	65	Lot #:	65
Pen #:	N5	Consignor:	
Head:	42	Average Weight:	598
Color:		Total Weight:	25121
Sex:	HFRS	Breed:	BLACK
Lot Detail Information			
Sequence #:	66	Lot #:	66
Pen #:	S3	Consignor:	
Head:	25	Average Weight:	650
Color:		Total Weight:	16260
Sex:	HFRS	Breed:	KOBES
Lot Detail Information			
Sequence #:	67	 Lot #:	67
Pen #:	N7	Consignor:	••
Head:	32	Average Weight:	662
neau.	32	Average Weight.	002

Color:		Total Weight:	21180
Sex:	HFRS	Breed:	BLACK
Lot Detail Information			
Sequence #:	68	Lot #:	68
Pen #:	D16	Consignor:	
Head:	3	Average Weight:	725
Color:		Total Weight:	2175
Sex:	HFRS	Breed:	BLACK
Lot Detail Information			
Sequence #:	69	Lot #:	69
Pen #:	C23T	Consignor:	
Head:	6	Average Weight:	404
Color:		Total Weight:	2421
Sex:	HFRS	Breed:	TAN
ot Detail Information			
Sequence #:	70	Lot #:	70
Pen #:	D7	Consignor:	
Head:	10	Average Weight:	456
Color:		Total Weight:	4561
Sex:	HFRS	Breed:	TAN
ot Detail Information			
Sequence #:	71	Lot #:	71
Pen #:	D9	Consignor:	
Head:	10	Average Weight:	495
Color:		Total Weight:	4952
Sex:	HFRS	Breed:	TAN
ot Detail Information			
Sequence #:	72	Lot #:	72
Pen #:	D11	Consignor:	
Head:	9	Average Weight:	561
Color:		Total Weight:	5046
Sex:	HFRS	Breed:	TAN
Lot Detail Information			
Sequence #:	73	Lot #:	73
Pen #:	D13	Consignor:	
Head:	14	Average Weight:	592
Color:		Total Weight:	8292
Sex:	HFRS	Breed:	TAN
ot Detail Information			
Sequence #:	74	Lot #:	74
Pen #:	N10	Consignor:	
Head:	31	Average Weight:	672
Color:		Total Weight:	20831
Sex:	HFRS	Breed:	TAN

Lot Detail Information 75 Lot #: Sequence #: **75** Pen #: N14 Consignor: Head: Average Weight: 732 19 Color: Total Weight: 13914 Sex: TAN **HFRS** Breed: **Lot Detail Information** Sequence #: 76 Lot #: 76 Pen #: N15 Consignor: Head: 392 8 Average Weight: Color: Total Weight: 3140 Breed: **SILVER** Sex: **HFRS Lot Detail Information 77 77** Sequence #: Lot #: Pen #: **C18S** Consignor: Head: Average Weight: 439 15 Color: Total Weight: 6578 Sex: **HFRS** Breed: **SILVER Lot Detail Information** Sequence #: 78 Lot #: 78 Pen #: **C20S** Consignor: Head: Average Weight: 512 29 Color: Total Weight: 14834 Sex: **HFRS** Breed: **SILVER Lot Detail Information** Sequence #: **79** Lot #: **79** Pen #: **C24T** Consignor: 588 Head: 9 Average Weight: 5288 Color: Total Weight: Sex: **HFRS** Breed: **SILVER Lot Detail Information** Sequence #: 80 Lot #: 80 Pen #: N13 Consignor: Head: 28 Average Weight: 672 Color: 18822 Total Weight:

Sex:	HFRS	Breed:	SILVER
Lot Detail Information			
Sequence #:	81	Lot #:	81
Pen #:	N12	Consignor:	
Head:	7	Average Weight:	741
Color:		Total Weight:	5188
Sex:	HFRS	Breed:	SILVER
Lot Detail Information			
Sequence #:	82	Lot #:	82

Pen #:	D2	Consignor:		
Head:	12	Average Weight:		346
Color:		Total Weight:		4151
Sex:	HFRS	Breed:		EXOTIC
Lot Detail Inform	nation			
Sequence #:	83	Lot #:		83
Pen #:	D4	Consignor:		
Head:	11	Average Weight:		406
Color:		Total Weight:		4463
Sex:	HFRS	Breed:		EXOTIC
Lot Detail Inform	nation			
Sequence #:	84	Lot #:		84
Pen #:	D6	Consignor:		
Head:	8	Average Weight:		456
Color:		Total Weight:		3650
Sex:	HFRS	Breed:		EXOTIC
Lot Detail Inform	nation			
Sequence #:	85	Lot #:		85
Pen #:	D8	Consignor:		
Head:	17	Average Weight:		512
Color:		Total Weight:		8703
Sex:	HFRS	Breed:		EXOTIC
Lot Detail Inform	nation			
Sequence #:	86	Lot #:		86
Pen #:	N2	Consignor:		
Head:	30	Average Weight:		544
Color:		Total Weight:		16334
Sex:	HFRS	Breed:		EXOTIC
Lot Detail Inform	nation			
Sequence #:	87 Le	ot #:	87	
Pen #:	N9 C	onsignor:		
Head:	20 A	verage Weight:	546	
Color:	Т	otal Weight:	10924	
Sex:	HFRS B	reed:	BLACK REPLACEM	ENT
Lot Detail Inform	nation			
Sequence #:	88	Lot #:		88
Pen #:	N4	Consignor:		
Head:	19	Average Weight:		607
Color:		Total Weight:		11526
Sex:	HFRS	Breed:		EXOTIC
Lot Detail Inform	nation			
Sequence #:	89	Lot #:	89	
Pen #:	C17R	Consignor:		
Head:	10	Average Weight:	616	
Color:		Total Weight:	6160	
		-		

Sex:	HFRS	Breed:	REPLACEMENT
Lot Detail Information			
Sequence #:	90	Lot #:	90
Pen #:	N6	Consignor:	
Head:	13	Average Weight:	655
Color:		Total Weight:	8509
Sex:	HFRS	Breed:	EXOTIC
Lot Detail Information			
Sequence #:	91	Lot #:	91
Pen #:	N17	Consignor:	
Head:	5	Average Weight:	744
Color:		Total Weight:	3718
Sex:	HFRS	Breed:	EXOTIC
Lot Detail Information			
Sequence #:	92	Lot #:	92
Pen #:	N8	Consignor:	
Head:	7	Average Weight:	802
Color:		Total Weight:	5613
Sex:	HFRS	Breed:	EXOTIC
Lot Detail Information			
Sequence #:	93	Lot #:	93
Pen #:	D10	Consignor:	
Head:	14	Average Weight:	313
Color:		Total Weight:	4384
Sex:	HFRS	Breed:	BRITISH
Lot Detail Information			
Sequence #:	94	Lot #:	94
Pen #:	D12	Consignor:	
Head:	10	Average Weight:	357
Color:		Total Weight:	3568
Sex:	HFRS	Breed:	BRITISH
Lot Detail Information			
Sequence #:	95	Lot #:	95
Pen #:	D14	Consignor:	
Head:	14	Average Weight:	397
Color:		Total Weight:	5552
Sex:	HFRS	Breed:	BRITISH
Lot Detail Information			
Sequence #:	96	Lot #:	96
Pen #:	D15	Consignor:	
Head:	7	Average Weight:	443
Color:		Total Weight:	3104
Sex:	HFRS	Breed:	BRITISH
Lot Detail Information			

Sequence #:	97	Lot #:	97
Pen #:	D17	Consignor:	
Head:	4	Average Weight:	503
Color:		Total Weight:	2011
Sex:	HFRS	Breed:	BRITISH
Lot Detail Information	n		
Sequence #:	98	Lot #:	98
Pen #:	D19	Consignor:	
Head:	6	Average Weight:	549
Color:		Total Weight:	3292
Sex:	HFRS	Breed:	BRITISH
Lot Detail Information	n		
Sequence #:	99	Lot #:	99
Pen #:	D21	Consignor:	
Head:	4	Average Weight:	588
Color:		Total Weight:	2350
Sex:	HFRS	Breed:	BRITISH
Lot Detail Information	n		
Sequence #:	100	Lot #:	100
Pen #:	C2B	Consignor:	
Head:	1	Average Weight:	630
Color:		Total Weight:	630
Sex:	HFRS	Breed:	BRITISH
Lot Detail Information	n		
Sequence #:	101	Lot #:	101
Pen #:	W20	Consignor:	
Head:	4	Average Weight:	479
Color:		Total Weight:	1917
Sex:	HFRS	Breed:	SMOKE
Lot Detail Information	n		
Sequence #:	102	Lot #:	102
Pen #:	W26	Consignor:	
Head:	2	Average Weight:	658
Color:		Total Weight:	1315
Sex:	HFRS	Breed:	SMOKE
Lot Detail Informatio	n		
Sequence #:	103	Lot #:	103
Pen #:	W23	Consignor:	
Head:	3	Average Weight:	712
Color:		Total Weight:	2137
Sex:	HFRS	Breed:	RED WHITE FACE
Lot Detail Information			
Sequence #:	104	Lot #:	104
Pen #:	W15	Consignor:	
Head:	2	Average Weight:	370
	_	Attacked traight.	

Sex: SPECKLE PARK Lot Detail Information Sequence #: Lot #: 105 Lot #: 105 Sequence #: SPECKLE PARK Color: Total Weight: SPECKLE PARK Lot Detail Information Sequence #: 106 Lot #: 106 Head: 9 Average Weight: 418 Lot #: 107 Lot #: 108	Color:
Sequence #: 105 Lot #: 105 Pen #: C215 Consignor: Head: 1 Average Weight: 540 Color: Total Weight: 540 Sex: HFRS Breed: SPECKLE PARK Lot Detail Information Sequence #: 106 Lot #: 106 Pen #: W8 Consignor: 418 Pen #: W8 Consignor: 418 Color: Total Weight: 3766 Sex: HFRS Breed: NORTH Lot Detail Information NORTH 107 Sex: HFRS Breed: 107 Pen #: W5 Consignor: 551 Head: 5 Average Weight: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information 108 NORTH Sex: HFRS Breed: NORTH Lot Detail Information	Sex:
Pen #: C21S Consignor: Head: 1 Average Weight: 540 Color: Total Weight: 540 Sex: HFRS Breed: SPECKLE PARK Lot Detail Information Sequence #: 106 Lot #: 106 Pen #: W8 Consignor: 418 Color: Total Weight: 3766 Sex: HFRS Breed: NORTH Lot Detail Information W5 Consignor: Head: 5 Average Weight: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information NORTH 108 Pen #: W4 Consignor: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information Information 109 Pen #: 109 Pen #: W4 Consignor: 109	Lot Detail Information
Head:	Sequence #:
Color: Total Weight: 540 SPECKLE PARK Lot Detail Information Sequence #: 106 Lot #: 106 Pen #: W8 Consignor: 418 Color: Total Weight: 3766 Sex: HFRS Breed: NORTH Lot Detail Information NORTH 107 Sequence #: 107 Lot #: 107 Pen #: W5 Consignor: 107 Head: 5 Average Weight: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information NORTH Sequence #: 108 Lot #: 108 Pen #: W4 Consignor: 663 Head: 7 Average Weight: 663 Color: Total Weight: 109 Sex: HFRS Breed: NORTH Lot Detail Information 109 NORTH	Pen #:
Sex: HFRS Breed: SPECKLE PARK Lot Detail Information 106 Lot #: 106 Sequence #: W8 Consignor: 418 Head: 9 Average Weight: 3766 Sex: HFRS Breed: NORTH Lot Detail Information W5 Consignor: Sequence #: 107 Lot #: 107 Pen #: W5 Consignor: 551 Head: 5 Average Weight: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information NORTH 108 Sequence #: 108 Lot #: 108 Pen #: W4 Consignor: 663 Head: 7 Average Weight: 663 Sex: HFRS Breed: NORTH Lot Detail Information NORTH Sex: HFRS Breed: NORTH Lot #: 109	Head:
Lot Detail Information Sequence #: 106 Lot #: 106 Pen #: W8 Consignor: 418 Head: 9 Average Weight: 418 Color: Total Weight: 3766 Sex: HFRS Breed: NORTH Lot Detail Information NORTH 107 Pen #: W5 Consignor: 551 Color: Total Weight: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information NORTH 108 Sex: W4 Consignor: 663 Color: Total Weight: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information 109 Lot #: 109 Sex: Head: 109 Lot #: 109 Pen #: W1 Consignor: 772 Color: </td <td>Color:</td>	Color:
Sequence #: 106 Lot #: 106 Pen #: W8 Consignor: Head: 9 Average Weight: 418 Color: Total Weight: 3766 Sex: HFRS Breed: NORTH Lot Detail Information W5 Consignor: Sequence #: 107 Lot #: 107 Pen #: W5 Consignor: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information Sequence #: 108 Lot #: 108 Pen #: W4 Consignor: Head: 7 Average Weight: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information Sequence #: 109 Lot #: 109 Pen #: W1 Consignor: Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH	Sex:
Pen #: W8 Consignor: Head: 9 Average Weight: 418 Color: Total Weight: 3766 Sex: HFRS Breed: NORTH Lot Detail Information Very Ben #: 107 Lot #: 107 Pen #: W5 Consignor: Very Ben #: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information Very Ben #: 108 Pen #: W4 Consignor: Head: 7 Average Weight: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information Very Ben #: 109 Lot #: 109 Pen #: W1 Consignor: 109 Lot #: 772 Color: Total Weight: 772 772 Sex: HFRS Breed: NORTH	Lot Detail Information
Head: 9 Average Weight: 418 Color: Total Weight: 3766 Sex: HFRS Breed: NORTH Lot Detail Information US 107 Sequence #: W5 Consignor: 108 Head: 5 Average Weight: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information NORTH 108 Pen #: W4 Consignor: 108 Pen #: V4 Consignor: 663 Color: Total Weight: 663 Sex: HFRS Breed: NORTH Lot Detail Information NORTH 109 Sequence #: 109 Lot #: 109 Pen #: W1 Consignor: 109 Pen #: W1 Consignor: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH	Sequence #:
Color: Total Weight: 3766 Sex: HFRS Breed: NORTH Lot Detail Information Sequence #: 107 Lot #: 107 Pen #: W5 Consignor: 51 Head: 5 Average Weight: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information Sequence #: 108 Lot #: 108 Pen #: W4 Consignor: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information Sequence #: 109 Lot #: 109 Pen #: W1 Consignor: 109 Head: 772 Color: Total Weight: 772 772 Sex: HFRS Breed: NORTH	Pen #:
Sex: HFRS Breed: NORTH Lot Detail Information Sequence #: 107 Lot #: 107 Pen #: W5 Consignor: Total Weight: 551 Color: Total Weight: 2753 NORTH Lot Detail Information Sequence #: W4 Consignor: Head: 663 Color: Total Weight: 4640 NORTH Lot Detail Information Seed: NORTH NORTH Lot Detail Information V1 Consignor: Head: Average Weight: 772 772 Color: V1 Consignor: Total Weight: 772 772 Sex: HFRS Breed: NORTH NORTH Lot Detail Information Freed: NORTH NORTH	Head:
Lot Detail Information Sequence #: 107 Lot #: 107 Pen #: W5 Consignor: ************************************	Color:
Sequence #: 107 Lot #: 107 Pen #: W5 Consignor: Head: 5 Average Weight: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information NORTH 108 Sequence #: 108 Lot #: 108 Pen #: W4 Consignor: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information NORTH 109 Pen #: W1 Consignor: 109 Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information NORTH	Sex:
Pen #: W5 Consignor: Head: 5 Average Weight: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information W4 Consignor: Sequence #: 108 Lot #: 108 Pen #: W4 Consignor: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information Lot #: 109 Pen #: W1 Consignor: Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information NORTH	Lot Detail Information
Head: 5 Average Weight: 551 Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information W4 108 Sequence #: W4 Consignor: Head: 7 Average Weight: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information V1 Consignor: Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information NORTH NORTH	Sequence #:
Color: Total Weight: 2753 Sex: HFRS Breed: NORTH Lot Detail Information Use of the color of the	Pen #:
Sex: HFRS Breed: NORTH Lot Detail Information 108 Lot #: 108 Pen #: W4 Consignor: Head: 7 Average Weight: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information V1 Consignor: Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information	Head:
Lot Detail Information Sequence #: 108 Lot #: 108 Pen #: W4 Consignor: Feed: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information VI Lot #: 109 Pen #: W1 Consignor: Feed: 772 Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH	Color:
Sequence #: 108 Lot #: 108 Pen #: W4 Consignor: Feed: 663 Head: 7 Average Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information NORTH Lot #: 109 Pen #: W1 Consignor: Feed: 772 Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information	Sex:
Pen #: W4 Consignor: Head: 7 Average Weight: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information V Lot #: 109 Pen #: W1 Consignor: V Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information	Lot Detail Information
Head: 7 Average Weight: 663 Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information VI Lot #: 109 Pen #: W1 Consignor: 772 Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information	Sequence #:
Color: Total Weight: 4640 Sex: HFRS Breed: NORTH Lot Detail Information Sequence #: 109 Lot #: 109 Pen #: W1 Consignor: 772 Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information	Pen #:
Sex: HFRS Breed: NORTH Lot Detail Information Up 109 Sequence #: 109 Lot #: 109 Pen #: W1 Consignor: 772 Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information NORTH	Head:
Lot Detail Information Sequence #: 109 Lot #: 109 Pen #: W1 Consignor: 772 Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information NORTH	Color:
Sequence #: 109 Lot #: 109 Pen #: W1 Consignor: 772 Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information	Sex:
Pen #: Head: Consignor: Head: Average Weight: Total Weight: Sex: HFRS Breed: NORTH Lot Detail Information	Lot Detail Information
Head: 1 Average Weight: 772 Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information	Sequence #:
Color: Total Weight: 772 Sex: HFRS Breed: NORTH Lot Detail Information	Pen #:
Sex: HFRS Breed: NORTH Lot Detail Information	Head:
Lot Detail Information	Color:
	Sex:
Sequence #: 110 Lot #: 110	Lot Detail Information
	Sequence #:
Pen #: N20 Consignor:	Pen #:
Head: 13 Average Weight: 881	Head:
Color: Total Weight: 11449	Color:
Sex: STRS Breed: BLACK YEARLING	Sex:
Lot Detail Information	Lot Detail Information
Sequence #: 111 Lot #: 111	Sequence #:
Pen #: W21 Consignor:	Pen #:
Head: 5 Average Weight: 1261	Head:
Color: Total Weight: 6304	Color:
Sex: STRS Breed: BIG YEARLING	Sex:

Lot Detail Information			
Sequence #:	112	Lot #:	112
Pen #:	C22	Consignor:	
Head:	7	Average Weight:	733
Color:		Total Weight:	5132
Sex:	HFRS	Breed:	BLACK YEARLING
Lot Detail Information			
Sequence #:	113	Lot #:	113
Pen #:	N16	Consignor:	
Head:	8	Average Weight:	873
Color:		Total Weight:	6981
Sex:	HFRS	Breed:	BLACK YEARLING
Lot Detail Information			
Sequence #:	114	Lot #:	114
Pen #:	N18	Consignor:	
Head:	10	Average Weight:	946
Color:		Total Weight:	9462
Sex:	HFRS	Breed:	BLACK YEARLING
Lot Detail Information			
Sequence #:	115	Lot #:	115
Pen #:	W27	Consignor:	
Head:	3	Average Weight:	1011
Color:		Total Weight:	3033
Sex:	HFRS	Breed:	BLACK YEARLING
Lot Detail Information			
Sequence #:	116	Lot #:	116
Pen #:	C17B	Consignor:	
Head:	7	Average Weight:	1132
Color:		Total Weight:	7923
Sex:	HFRS	Breed:	YEARLING
Lot Detail Information			
Sequence #:	117	Lot #:	117
Pen #:	W18	Consignor:	
Head:	2	Average Weight:	775
Color:		Total Weight:	1550
Sex:	HFRS	Breed:	NORTH YEARLING
Lot Detail Information			
Sequence #:	118	Lot #:	118
Pen #:	W14	Consignor:	
Head:	8	Average Weight:	682
Color:			
		Total Weight:	5456
Sex:	HFRS	Total Weight: Breed:	5456 SPECKLE YEARLING

Sequence #:

119

Lot #:

119

Pen #:	W32B	Consignor:	
Head:	3	Average Weight:	869
Color:		Total Weight:	2607
Sex:	STRS	Breed:	BIG YEARLING
Lot Detail Information			
Sequence #:	120	Lot #:	120
Pen #:	W30B	Consignor:	
Head:	6	Average Weight:	1026
Color:		Total Weight:	6153
Sex:	HFRS	Breed:	BIG YEARLING
Lot Detail Information			
Sequence #:	121	Lot #:	121
Pen #:	W23B	Consignor:	
Head:	5	Average Weight:	1089
Color:		Total Weight:	5446
Sex:	STRS	Breed:	BIG YEARLING
Lot Detail Information			
Sequence #:	122	Lot #:	122
Pen #:	W22	Consignor:	
Head:	4	Average Weight:	205
Color:		Total Weight:	820
Sex:	STRS	Breed:	PEEWEE
Lot Detail Information			
Sequence #:	123	Lot #:	123
Pen #:	W22W	Consignor:	
Head:	4	Average Weight:	196
Color:		Total Weight:	782
Sex:	HFRS	Breed:	PEEWEE
Lot Detail Information			
Sequence #:	124	Lot #:	124
Pen #:	W24	Consignor:	
Head:	3	Average Weight:	266
Color:		Total Weight:	799
Sex:	HFRS	Breed:	PEEWEE
Lot Detail Information			
Sequence #:	125	Lot #:	125
Pen #:	T779	Consignor:	
Head:	1	Average Weight:	330
Color:		Total Weight:	330
Sex:	HFRS	Breed:	
Lot Detail Information			
Sequence #:	126	Lot #:	126
Pen #:	T776	Consignor:	
Head:	1	Average Weight:	1114
Color:	-	Total Weight:	1114
JOIOI .		i otai weigiit.	1114

Sex:	HFRS	Breed:	
Lot Detail Information			
Sequence #:	127	Lot #:	127
Pen #:	T773	Consignor:	
Head:	1	Average Weight:	713
Color:		Total Weight:	713
Sex:	STRS	Breed:	
Lot Detail Information			
Sequence #:	128	Lot #:	128
Pen #:	T789	Consignor:	
Head:	1	Average Weight:	1170
Color:		Total Weight:	1170
Sex:	STRS	Breed:	
Lot Detail Information			
Sequence #:	129	Lot #:	129
Pen #:	T771	Consignor:	
Head:	1	Average Weight:	675
Color:		Total Weight:	675
Sex:	HFRS	Breed:	
Lot Detail Information			
Sequence #:	130	Lot #:	130
Pen #:	T788	Consignor:	
Head:	1	Average Weight:	930
Color:		Total Weight:	930
Sex:	STRS	Breed:	
Lot Detail Information			
Sequence #:	131	Lot #:	131
Pen #:	T766	Consignor:	
Head:	1	Average Weight:	883
Color:		Total Weight:	883
Sex:	HFRS	Breed:	
Lot Detail Information			
Sequence #:	132	Lot #:	132
Pen #:	T768	Consignor:	
Head:	1	Average Weight:	535
Color:		Total Weight:	535
Sex:	HFRS	Breed:	
Lot Detail Information			
Sequence #:	133	Lot #:	133
Pen #:	T770	Consignor:	
Head:	1	Average Weight:	380
Color:		Total Weight:	380
Sex:	HFRS	Breed:	
Lot Detail Information			

_			
Sequence #:	134	Lot #:	134
Pen #:	T778	Consignor:	
Head:	1	Average Weight:	472
Color:		Total Weight:	472
Sex:	STRS	Breed:	
Lot Detail Information			
Sequence #:	135	Lot #:	135
Pen #:	T767	Consignor:	
Head:	1	Average Weight:	491
Color:		Total Weight:	491
Sex:	HFRS	Breed:	
Lot Detail Information			
Sequence #:	136	Lot #:	136
Pen #:	T765	Consignor:	
Head:	1	Average Weight:	1000
Color:		Total Weight:	1000
Sex:	STRS	Breed:	
Lot Detail Information			
Sequence #:	137	Lot #:	137
Pen #:	T772	Consignor:	
Head:	1	Average Weight:	877
Color:		Total Weight:	877
Sex:	STRS	Breed:	
Lot Detail Information			
Sequence #:	138	Lot #:	138
Pen #:	T774	Consignor:	
Head:	1	Average Weight:	559
Color:		Total Weight:	559
Sex:	STRS	Breed:	
Lot Detail Information			
Sequence #:	139	Lot #:	139
Pen #:	T775	Consignor:	
Head:	1	Average Weight:	996
Color:	-	Total Weight:	996
Sex:	HFRS	Breed:	330
Lot Detail Information	111.10	Diccu.	
Sequence #:	140	 Lot #:	140
Pen #:	T769	Consignor:	170
Head:	1	Average Weight:	480
Color:	•	Total Weight:	480
	UEDE	_	400
Sex:	HFRS	Breed:	
Lot Detail Information			
Sequence #:	141	Lot #:	141
Pen #:	T764	Consignor:	
Head:	1	Average Weight:	719

Color: Total Weight: **719**

Sex: STRS Breed: